Filozofická fakulta Ostravské univerzity v Ostravě

Informace o přijímacích zkouškách podle studijních programů

1.  Studijní program M7504 Učitelství pro střední školy
a) Studijní obor Učitelství anglického jazyka pro SŠ
Kombinace: Aj-Pj

Forma přijímací zkoušky: písemná

Test z anglického jazyka - varianta B

Úplné zadání písemné přijímací zkoušky nebo její části (u testů s výběrem odpovědi správné řešení):      

Entrance exam 2004

Part
1: Cultural test version B

Time: 15 min.

name:




combination subjects:

room:




corrector:

date:




number of points:

Univerzitní číslo:


Svým podpisem stvrzuji, že jsem seznámen(a) s Harmonogramem přijímacího řízení na FF OU na akademický rok 2004/05 a že se seznámím s výsledky přijímacího řízení na úřední desce FF OU nebo na internetových stránkách http://stag.osu.cz/prijimacky2/index. Svým podpisem rovněž stvrzuji, že jsem způsobilý(á) vykonat písemný test.








Podpis:


Potvrzuji, že jsem byl(a) seznámen(a) se skutečností, že v přijímacím testu nelze používat obyčejnou tužku a že je nutné rozlišovat mezi velkými a malými písmeny.








Podpis:

Circle the correct answer.

1. Which of these countries has never been a British colony? 

a) New Zealand 

b) Rhodesia 

c) Japan 

d) Canada 

2. Cardiff is the capital of …

a) Northern Ireland

b) Wales

c) Scotland

d) Ulster 


3. Which monarch initiated the establishment of the Church of England? 

a) Richard I. 

b) Henry IV. 

c) Henry VIII. 

d) Victoria 

4. Where does Glasgow lie? 

a) In Northern Ireland 

b) In England 

c) In Wales 

d) In Scotland 

5. Tony Blair, the British prime minister, is the leader of …

a) The Conservative Party 

b) The Labour Party 

c) The Social Democratic Party 

d) The Republican Party 

6. Which is the most important TV channel in Britain? 

a) BBC

b) CNN

c) NBC

d) PBS 


7. Sinn Fein is a(n)… 

a) Welsh nationalistic party 

b) Scottish nationalistic party 

c) Irish party loyal (friendly) to Britain 

d) Political wing of the Irish Republican Army

8. Who is the author of David Copperfield? 

a) G. B. Shaw 

b) Oscar Wilde 

c) Charles Dickens 

d) Thomas Hardy 

9. James Joyce is the author of 

a) Lady Chatterley’s Lover 

b) Ulysses 

c) To the Lighthouse 

d) Wuthering Heights 

10. Which period is the British Prime Minister Winston Churchill linked with? 

a) the Industrial Revolution 

b) The Victorian Period 

c) World War II 

d) the Gulf War 

11. In what year did the Pilgrim Fathers arrive in Cape Cod (New England)?

a) 1492 

b) 1607 

c) 1620 

d) 1776 

12. What is celebrated on 4th July in the United States? 

a) Thanksgiving Day 

b) Independence Day 

c) Memorial Day 

d) Veterans’ Day 

13. Boston is the capital of 

a) Massachusetts 

b) Pennsylvania 

c) New Jersey 

d) Connecticut 

14. The American Civil War began in

a) 1776

b) 1861

c) 1881

d) 1883 


15. The first person to set foot on the moon was

a) John Glenn 

b) Jim Carrey

c) Michael Collins 

d) Neil Armstrong

16. Which of these authors did not write in the 19th century?

a) Tennessee Williams

b) Walt Whitman

c) Edgar Allan Poe

d) Emily Dickinson

e) Harriet Beecher Stowe 


17. Andy Warhol was…

a) film director

b) architect

c) jazz composer

d) pop art painter 


18. In 1848 gold was discovered in

a) Nevada

b) Alaska

c) California

d) Arizona

19. Who is the author of the novel On the Road? 

a) Allen Ginsberg 

b) Jack Kerouac 

c) John Steinbeck 

d) Francis S. Fitzgerald 

e) Walt Disney 

20. Which of these states is not located in the West of the USA? 

a) Utah 

b) Washington 

c) Alabama 

d) Oregon 

e) California 

Entrance exam 2004
Part
2: Grammatical-Lexical Test version B   Time: 15 min.

name:




combination subjects:

room:




corrector:

date:




number of points:

Univerzitní číslo:


In each sentence only one of the four options is correct. Circle the correct answer.

1. Nothing could ………. me to fly except in a case of extreme emergency.

A encourage

B induce

C intend

D recommend

2. High in the sky a ………. of birds was flying southward.

A collection

B company 

C flock

D swarm

3. It is a good idea to be ………. dressed when you go for an interview.

A boldly

B clearly

C finely

D smartly
4. My sister is a most ………. student, never failing to turn up to lectures.

A absent

C careful

C conscientious
D honest

5. There is no need to put the word ………. quotation marks.

A within

B among

C into


D around

6. It‘s nothing to do with you. Stop poking your ………. into other people‘s business!

A nose


B head


C fingers

D chin

7. You will have to ………., Aunt Betty is rather deaf.

A call up

B ring up

C speak up

D stand up

8. I can‘t remember the last time somebody ………. me a compliment.

A paid


B told


C spoke

D said

9. You‘ve managed to find a cheap flat near Piccadilly Circus. ………. you!

A Happy

B Fortunate

C Lucky

D Merry

10. The bank will require three ………. signatures when you open an account.

A natural

B test


C specimen

D trial

11. If the news ………. less biased more people would trust journalists.

A were


B have been

C was
being

D would be

12. Many people are afraid of flying and would rather go ………. .

A by the train

B in train

C by train

D on train 

13. The letter is still here! That means she has again forgotten ………. it !

A sending

B having sent

C to send

D send

14. You’re wet all over! What on earth ……….

A had you been doing


B did you do



C have you been doing


D were you doing

15. By the end of next month he ………. here for ten years.

A will have been
B will be

C will have been being
D is

16. I don’t feel at home in London. I wish I ………. from Ostrava.

A have never moved


B would never move


C would never moved


D had never moved

17. Let me know as soon as you ………. it.

A find


B will find

C would find

D found

18. She told me that he ………. his leg.

A broke

B was breaking
C has broke

D had been breaking

19. It is time we ………. something to eat.

A had


B should have

C had had

D have

20. If the police ………. better organised no crime would remain unsolved.

A was


B is


C had been

D were 

Entrance exam 2004

Part
3: Reading version B 
Time: 30 min.

name:




combination subjects:

room:




corrector:

date:




number of points:

Univerzitní číslo:


Read the text and solve the 4 tasks given at the end.

ONLY THE LONELY

Jill Kirkbride only ever wanted one child. Her son, Elliott, is now five, and she's happy with her decision. "He's beautiful but I have no desire to have another one. I love him too much," she says. "I think I would have trouble giving that amount of love to two and it would be unfair to take it away from him." 1(
Kirkbride is one of an increasing number of women having just one child. The reasons may be varied - a desire to give the child everything, an inability to conceive more than one, or financial restrictions - but it appears that one-child families are becoming more common.

"A lot of our friends are having one child," says Kirkbride, 37, from Prenton in the Wirral. "The older they are, the fewer children they are having. Many have concentrated on their careers or are older parents. We're certainly not alone."

The 2002 Birth Statistics for England and Wales were released yesterday. Behind the headline-grabbing findings that multiple births are increasing, they showed that the birth rate for 2002 in England and Wales was actually just 1.65 per woman of childbearing age. That is a small rise on 2001's figure of 1.64 (the lowest ever recorded) and still a noticeable fall since 1992's 1.8.  And it is a lot less than the heady days of the 1960s baby boom, when the rate went up to 2.93.

Recent figures relating to just Scotland are even more dramatic, with the most recent birth rate dropping to 1.48. However, any statistician will tell you that just because the fertility rate is falling it doesn't necessarily mean that there are more only children. The rate takes into account the number of women who are deciding, whether by choice or not, to have no child at all, and that has shown a steady increase in recent years. It is difficult to determine absolutely that more people are having just one child, but anecdotal evidence, along with other data on women's fertility intentions, suggests that may be the case. In fact, over time, there have been falls in what is described by the Office of National Statistics as "average intended family size" for all age groups of women. A majority still say they want two children, but key findings from one recent study suggested that the proportion that think they will only have one child has risen in recent years.

Jay Wright, 37, is Jill Kirkbride's partner. As the oldest of three, he says he always imagined having more than one child himself. In fact, he would have liked a sibling for Elliott, but bows to Kirkbride's wish not to.

"I would have liked another, not just for me, but for Elliott," he says. "I think maybe life might feel a bit more complete with another one, and that life could be easier in some ways because Elliott would have someone to play with."

Kirkbride, however, has various reasons for just wanting one. Her career has always been important to her, and one child was always going to fit in with that more easily. 1(  "It is time issues too," she says. "I only have to consider Elliott. I don't know how people manage with more than one." 1(
Both Kirkbride and Wright say that, because he spends so much time with adults, Elliott is grown-up and sociable. He also has lots of friends and the couple make a conscious effort to holiday with other families. Wright, however, has his own concerns about Elliott being an "only". 

"He has not ever had to compete for time, attention or food," he says. "And I feel that this makes him less prepared for the real world. It might be paranoia, but I feel that he doesn't exert himself or fight for his needs. He doesn't have to compete, because life is easy and comfortable, and in the long-term, that might not be in his best interests."

Whether or not it is in his best interests is questionable. But it is a characteristic often seen in only children. Ann Richardson (an only child herself) is a counsellor and psychotherapist who runs workshops for only children. She says that growing up as an only child is completely different to growing up with siblings.

"Being an only child means being the focus of your parents' hopes and expectations," she says. "You can feel a pressure, a real emotional intensity, as it is not spread out among others in the family." Richardson says that only children are often, like Elliott, well-behaved (there is no point in them acting up around their parents), self-sufficient, good at amusing themselves and at ease around adults. They are also less competitive.

"People often feel they have missed out on the rough and tumble of a family, the fighting over toys and attention," she says. "Later on in life, it would be quite useful to know how to deal with that sort of thing. It's basic socialisation. Children with siblings learn to share things when they don't want to. They learn that you win some, you lose some."

It is clear that many women are now choosing not to have any children or just to have one child. But some are finding that, although they would like to have more than one, it just doesn't happen. Valerie Kahn is the mother of Jacqueline, aged 11. She says that she'd never really thought about having children until she got married in her late 30s. Jacqueline was conceived when Kahn, an IT consultant from Edinburgh, was 40.

"I felt lucky to have one, but I would have liked two or three," she says. "I then had three miscarriages and so stopped trying." 2(
Kahn, now 51, knows a number of other couples with one child but would have been happier if Jacqueline had a brother or sister. "It would be nicer for her," she says. "She obviously gets lots more material things, so she benefits in some ways, but loses out in others. She gets on very well with younger children, so I'm sure she would have liked siblings. I am now under a lot of pressure to get her a cat."

Jacqueline herself says she is happy being an only child. "It's okay because if I had a brother or sister, I wouldn't get all the attention and I'd have to share things with them," she says. 2(  "I like to have the house all busy, all exciting, with everybody doing things," she says. "Ours is sometimes too quiet. And if I get bored, I don't have anyone to play with."

TASK 1

Find in the text a suitable place for these extracts and indicate your decision by inserting the appropriate number into the text, as in this example:

Perhaps the most amazing Olympic 1(  of all time was American gymnast George Eyser. 
2( Despite the fact that he was well over 30 and had a wooden leg!

1. she also has bad memories of post-natal depression.

2. BUT SHE ADMITS THAT THE HOUSE IS SOMETIMES TOO SILENT AND SAYS SHE WOULD LIKE THERE TO BE TWO CHILDREN AROUND.

TASK 2

Decide whether these statements are true or false and indicate your decision by putting T or F into the box.

1. People who had to fight for their position in the family are usually emotionally broken for the rest of their life.      


2. Jacqueline's mother doesn't have more than one child due to her career. 

TASK 3

Answer the question: Why did the author use the title "Only the Lonely"?

Only  children are lonely children. (Roy Orbison's song title). ______________________________________________________________________________________________________________________________________________________

TASK 4

Write  the word from the text the meaning of which is  "make an effort".

EXERT (ONESELF/HIMSELF) nebo TRY(TRYING) _________________

Kritéria pro vyhodnocení a postup, jakým se stanoví výsledek přijímací zkoušky nebo její části:

Cultural celkem: 10 bodů – za každé správné řešení 0,5 bodů.

Grammatical - lexical celkem 20 bodů – 1 bod za každé správné řešení.

Reading celkem: 20bodů)

TASK 1: celkem 8 bodů -  4 body za každou správně umístěnou položku (v případě položky 1 může jít o 3 různá místa, v případě položky 2 může jít o 2 různá místa, plný počet 4 body jsou uděleny za označení jednoho z těchto tří/dvou míst);

TASK  2: celkem 6 bodů - 3 body za každé správné řešení;

TASK 3: celkem 3 body -  klíčová slova v řešení "only child", "lonely" (za obtížně srozumitelný text strhávány úměrně body);

TASK 4: celkem 3 body - dvě možná řešení (plný počet tři body jsou uděleny za jedno správné řešení).

Základní statistické charakteristiky písemné přijímací zkoušky nebo její části:


Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 2

Nejlepší možný výsledek písemné přijímací zkoušky: 50


Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 30

Průměrný výsledek písemné přijímací zkoušky: 29.50

Směrodatná odchylka výsledků písemné přijímací zkoušky: 0.71

Decilové hranice výsledku zkoušky:

d1=29.1 : d2=29.2 : d3=29.3 : d4=29.4 : d5=29.5 : d6=29.6 : d7=29.7 : d8=29.8 : d9=29.9 

Ostrava 21. června 2004

Zpracovali: Petra Barešová, Mgr. Petra Lexová

Za správnost odpovídá: PhDr. Stanislav Kolář, Ph.D.
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